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10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry two marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(@ii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO,

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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ECONOMICS
Paper III

AL ITET

qoUteRt 111

Time Allowed : 2% Hours]
Note : This Question Paper contains Seventy Five (75) multiple choice questions.

[Maximum Marks : 150

Each question carries Two (2) marks. Attempt All questions.

U SRd. @E U Wi

GOl : A YA THY UeewX (75) dguae Ued foel ofed. Ui TR | (2)

Who assumed elasticity of demand
for money equal to 1 ?

(A) Mill

(B) Hicks

(C) Marshall

(D) Samuelson

Consider the following statements :

(I) The numerical tables attached
to indifference curves are
meaningful only in an ordinal
way.

(I) The numerical meanings
attached to isoquants are
meaningful in an ordinal way.

Select the correct answer from the
given below :

(A) (I) is true and (II) is false
(B) (I) is false and (II) is true
(C) both (I) and (II) are true
(D) both (I) and (II) are false

9o AU Sdfaehar 1 3T9d 3™
EeAleTyeh! hIo AR ?

(A) fHa

(B) fexg

(C) #HiEieA

(D) HgAAHA

weital faum foamr@ =0 ¢

(I) dqIxIdl SRR AT ol

HUSIN Tgd-= g 3.

(II) HH3ce dehTaIeiel HEATcHeh Tokl

HUST Jgd= arg 3l
ECIGIGEEAN (R0 e IR E C

(A) Taem (I) sieR o5 faum (11) 9%
e

(B) faum (I) I 3 faem (I1) s’fieX
e

(C) (I)¥ (II) T 3rgt faam e aTed
(D) (D) = (II) g <=1 faem ek 3Aed

[P.T.O.



If indifference curves are concave
to the origin then at tangency point
between indifference curve and

budget line is :

P

o
<

a”,

(B) MRSyxy = 3
Y

(C) Consumer is worse off
(D) Both (B) and (C)

Suppose demand curve for X
shifts rightwards due to increase in
consumer’s income. The price
elasticity of demand for X in

numerical value :
(A) decreases at every price

(B) decreases at the price that
prevailed before the change in

income
(C) increases at every price

(D) increases at every price that
prevailed before the change in

income

3.
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SR TEEIAl ek SIS SR TEAHTI

AATA AT dX qeLqdT dgh AT

STETSTIAeh! o= Eqeifeigean e

P

X
(A) MRSyy < p_

Px

(C) SUHFRAE THIHM Al B
(D) I8 (B) @ (C) § IR

SYHIFATAT ITd 9@ AeAHS SR

U ok STalehe Iaotell el o ‘&1’

awqeA fhaa dafaedan TEue

(A) Y% foada e 38d
(B) St A& TIvaTgel=a Teieh fehwciien
HE WA

(C) Y Torudia S 218

(D) 3 dE BIUaTga = Uieh TohHdie
S A




Suppose the demand curve is
downward sloping and supply curve
is positively sloping. Imposition of

tax would :
(A) increase producer’s surplus
(B) reduce consumer’s surplus

(C) leaves producer’s surplus
unchanged but reduces

consumer’s surplus

(D) leaves consumer’s surplus
unchanged but increases

producer’s surplus

The costs that do not vary with the
level of output but can be avoided

at zero level of output are :

(A) Sunk costs

(B) Total costs

(C) Fixed costs

(D) Implicit costs

MAY - 11316/III—A

HETOT=T I SR @il Said SR 3THa

9 RISl gk EF WEAEl e I

SR T STRRON T&l, W o:
(A) IR FASTEF dlea
(B) UTEhTa TSI S

(C) STUCHT HASIEeT STafed TR
Ul UTEehTS FATSITea T

(D) TTEehT TAoIfeER T eiel ao7
IUCHTE TN aed

S T SAEId@sRIeR dgeld ATerd, I

3CIEA I TECAH S W <Tesdl AT

(A) = =9
(B) TR =T
(C) TR =

(D) 3T =HH

[P.T.O.



Which one is not a condition for the
combination of inputs to be cost

minimizing ?

MP,

(A) MRTS = MP,

®) MP,_ MP,
w r
(C) MRTS = %
MP "

A price taker is :

(A) a firm that accepts different

prices from different customers

(B) a consumer who accepts
different prices from different

firms

(C) a firm that accepts the best
offers it can get from its

customers

(D) a firm that cannot influence

price

MAY - 11316/III—A

TITATATRT HITTAT IcATSTEEH: T

S AEET=AT fHATR S AT 31

3T ehd A& ?
MP,
(A) MRTS = MP,
MP MP
w r
(C) MRTS = %
MP "

fohAd WihRehdl HIUMY el Sd 2

(A) STt ScareTEEen RIS Ureshm

[ S o

e foRAdt 3R

(B) il Weeh FRIXIesN Scameoeenshas

o~

e fradt Sienrdl

(C) S ScUEAHEAT 3TIe ‘/Il‘échichsc\"l

~ L. oY N
HAlTH e HAT SlenlXd

(D) ST ScaeEEe fonadier giomg e

NEXSIGIE]




10.

Cournot equilibrium is NASH

equilibrium because :
(A) Joint profits are maximum

(B) Neither firm can gain by

deviating unilaterally

(C) Leader can gain by deviating

from equilibrium

(D) Both (A) and (B)
Consider the following statements :

(I) Monopolist uses quantity
discounts for exctracting some

consumer surplus.

(IT) Monopolist charging different
prices for each unit of output
leads to competitive level of

output.

Select the correct answer from the

given below :

(A) (I) is true and (II) is false
(B) (I) is false and (II) is true
(C) both (I) and (II) are true

(D) both (I) and (II) are false

9.

10.
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FAl A B AW GHAIA 3T R,

NI

(A) T TH FHATA ST

(B) Uohawi foae ™ iUl Tehrel
IR BRE B ARl

(C) HHAIAIRT=AT faae™ ™ e

U= HEeSl Bl

(D) =dveRt (A) 9 (B) Irg 3TE
el faam 9=

(I) SUMAE Haroniaed 9T e
TS HeRieR T&ATCHSR Taeldi

IR Hl.

(IT) s&=q=a1 gcdsh el e res

foRadT SRR SACATE] Sa¥icHS

RIGERI S IS G
Wetdalsh! I 9aig fHerer .

(A) fagm (I) SR 21 9 fagm (I0)
T 38

(B) faum (I) I o o faem (II) stsk
e

(C) ()& (II) B Tr=! Taeum ser Aea
(D) (I)a (1) & =T Taum =6 Ad
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11.

12.

Let price of X and price of Y be Px
and Py and I be the income of the
consumer. Suppose price of X and Y
increases 5 times, then the budget

line would be :

(A) PX + PY = EI
1
(B) PX + PY = gI

(D) Py + Py = 5I

The Marginal Productivity theory
of distribution in a book titled

“The Distribution of Wealth” is

written by :

(A) J.R. Hicks
(B) David Ricardo
(C) J.B. Clark

(D) Leon Walras

11.

12.
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‘o' g g asE fREdl STIEH Py d

Py = U™ 3cq=1 [ 318 318 AL

R e’ 7' = TRt Y T aree,

W fRAE ®od @ ?

(A)PX"'PY:EI
B) Py + Py = 1
(C) Py + Py = 1

(D) Py + Py = 51

faaTSHTET THT Scaesdl TagT=

Distribution of Wealth” I J&iehld
TS 3TR.

(A) S.3TR. feeg
(B) efws et
(C) &, AR

(D) foa=t afeg




13.

14.

Comparison of the equilibrium wage
rate and level of employment when
there is monopsony in labour market
(Wy; and Lyp) and when there is
perfect competition in labour market

(WC and LC) indicates that :
(A) Wy < Wi, and Ly > Lg
(B) Wy < W, and Ly < Lg
(C) Wy > Wi, and Ly < Lg
D) Wy > Wi, and Ly > Lg

Demand under uncertainty is

associated with the name of :

(A) Von Neumann and Morgenstern
(B) Sweezy

(C) Chamberlin

(D) Samuelson

13.

14.

MAY - 11316/III—A

THATIAIG UTEhH-HFASTH AT

TGRS0 YSTIR ATcier FHaed (W

q Lyp) S0 SIS S8 ST

e (W d L) A1 ol shidm

(A) WM < WL q9 LM > LC
(B) WM < WL q LM < LC
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15. Match List I with List IT and select | 15. ¥ I & F=t II weftad Siedn om@n o
the correct answer using the codes TTel feeie Yaharehian aTae Je 3t
given below : farer

List I Tt 1
(@) Input-Output Isoquant (@) SARME-3HIGT HHIUGH dsh
(b) CES Production Function (b) CES IRA Her
(¢) Duopoly Model (c) Tefomarfaer gfamm
(d) Kinked Demand Curve (d) SeheR HETU =eh
List IT et 11
(1) Arrow & Chenery (1) 30 9 ==
(2) Leontief 2) fasfifess
(3) P. Sweezy (3) dI. =
(4) Cournot (4) HAI
Codes : Hehdich :
@ ) © @ @ ®) @ @
A @O 3 @ @ Aa O G @ @
B 2 @1 B @ B 2 @1 B @
© @ @O @ ® © @2 1 @ 3
M Q1 @ B @ O Q1 @ @ @

10



16.

17.

User cost of capital appears in :

(A) Keynesian theory of investment

(B) Fisher’s theory of investment

(C) Hicks’s theory of investment

(D) Jargenson’s theory of investment

Which one of the following is a
correct description about the origin

of endogenous growth theory ?

(A)

Rejection of CRS assumption

(B) Rejection of exogenous

technical change assumption

©)

Rejection of constant savings

rate assumption

(D)

Rejection of constant population

growth rate assumption

16.

17.
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WSl SUANThRdl e

71 f9grd Tg hell 3.

(A) w51 TaavEen fagm

(B) frer=n Taavkan fagid

(C) fesrm=n T[aaveni=n g

(D) SFT=a=n T[qavehen faga

TATd & HI0Td siawia  Afaa gt

g Yo "= 4 auie o ?

(A) CRS 7RId TR0

(B) dTed i Sqair™ TRId ARRYl

(C) TR F=d TR TRId ARl

(D) crehEE= feer AfggieTs TEh

ATHTI0

11
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18.

19.

Which one of the following is a
correct definition of monetary base

in the theory of money supply ?

(A) Sum of currency and bank

reserves

(B) Sum of currency and demand

deposits

(C) Sum of demand deposits and

bank reserves

(D) Sum of currency, demand

deposits and bank reserves

In square-root formula for demand
for money of Baumol, demand for

money will be more if :

(A)

Cost per trip to bank decreases

(B) Cost per trip to bank increases

(C) Cost per trip to bank does not

change

(D) Expenditure of the individual

decreases

18.

19.
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Tegre Qs fHgiaa @neieden]
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(A) T A0 Sehergial TEa YA
S|

(B) == Smfor |pTel et sist
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Y= S

(D) I, AU Set ST Seheheld

[a)

[

qEe UE T I |

L= AFTO SEE A S e o

3;"%- W JIE e w

HETOT SR
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(B) Sehd SV Yodeh scqIeaT= S
dqied I
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20.

The difference between short-run
and long-run consumption function,
according to Simon Kuznets is as

follows :

(A) Long-run APC falling but short-

run APC constant

(B) Long-run APC constant but

short-run APC rising

(C) Long-run APC constant but
short-run APC falling

(D) Both long-run APC and short-
run APC falling

20.
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HEHT HHASHAT A SARIe T STHAT
e ST SiEfehret YU e

Teh Welial Yehii=l 3T9al

(A) TTeeRTE TEE SR ed g0
STCThTE T YUY fEer
A

(B) <reehrei TERl Sudrye feer

FEd TUT TURTATT  FUEY

IYYITII SAed
(C) reehrei TERl Sudryeri feer

IEd UG ATTRTATT |
m i
(D) SrefaRTeld o 3TeqehTe= T

YUY Feard

21. In IS-LM Model, government | o1 [S.LM wfgammesd e @< ToTeh
expenditure multiplier does not
““““““““““““““ qlq{ \ﬁ"'d("i "I \‘H‘Hd .
depend on : k) R
(A) Slope of savings function (A) &9 HoHET 3R
(B) Slope of investment function
(B) *j,clolug\qo o =l 3dR
(C) Slope of speculative demand
function (C) HEaTS{=a1 AN el 3R
(D) Slope of government expenditure
, (D) THH TE HeHEl Sal
function
13 [P.T.O.



22.

23.

To bring the economy out of
liquidity trap, which one of the
following will be an effective

policy ?
(A) A rise in money supply

(B) A rise in income tax rate

(C) A rise in government
expenditure

(D) A cut in government
expenditure

Suppose the following equations are

given for IS and LM curves :

IS curve : Y = 350 — 1000r

LM curve : Y = 200 + 500r

where Y = income and r = rate of

interest.

What will be the equilibrium values

of Y and r ?

(A) Y = 200, r = 0.04
(B) Y = 250, r = 0.1
(C) Y = 300, r = 0.15
D) Y = 350, r = 0.2

22.

23.
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SR srefeeRyl el W9 oK

HUIT A T @TeATeTdeh! ShIoTdT &Il

IRUMHR RS A ?

(A) Tvar= s 916

(B) 3 =l U4 96
(C) TR EEld 9%
(D) TSR E=Ed we

ST IS orfor LM ai=i SHTHIu

ETATAYHTOl 3T

IS ok : Y = 350 — 1000r

LM 9% : Y = 200 + 500r

AT Y = I 9 r = AN ST 3=,

379 URferdid Y 9 r 3= 9HAIA foh
HE ATAA ?

(A) Y = 200, r = 0.04
(B) Y =250, r=0.1
(C) Y =300, r = 0.15
D) Y =350, r = 0.2

14



24.

25.

In an economy, given MPC = 3/4,

income tax rate = 1/3, the

investment multiplier value is :

(A) 2

B) 3

C) 4

D) 5

In classical economic models, the

full-employment is ensured by :

(A) A vertical AD curve but rising

AS curve

(B) A vertical AD curve but falling

AS curve

(C) A falling AD curve but vertical

AS curve

(D) A falling AD curve but rising

AS curve

24.

25.
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ST SR AN YT Ui 3/4
3, Iq HUA R S 1/3 31T, W
T O -

(A) 2

(B) 3

C) 4

D) 5

FAAAR! Sfeieh fanmHe qoi IR

R hIve Yga e S ?

(A) fefasiers TH&d AR a5k o =@l
IR &Sl a%

(B) fafasersl Toea ARTUR sk o SERal
I &3 ah

(C) =&l FH AFT &k 9 fafasiers
I &3 ah

(D) SrEE HHET WA ok o =edl S

@S T

15
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26. Under fixed exchange rate, Mundell-

27.

Fleming model shows under perfect

capital mobility :

(A)

Fiscal policy is a failure but

monetary policy is effective

(B) Fiscal policy and monetary

policy, both are effective

(C) Fiscal policy is effective but

monetary policy is a failure

(D) Fiscal policy and monetary

policy, both are failure

If in an economy average propensity
to consume is equal to marginal

propensity to consume :

(I) Consumption function starts at

origin.

(IT) Income elasticity of consump-

tion is equal to 1.

(A) (I) is true and (II) is false

(B) (I) is false and (II) is true
(C) both (I) and (II) are false

(D) both (I) and (II) are true

MAY - 11316/III—A

26. T fafrmar g aRftdmed gea-wrifi

gfAME Aredarean U Taeierdea

Heuld

(A) faxi@ &0 STIRTEaT 3Xd 9Ul
T TE U0 UROMHERE 3

(B) foxii@ €Ror o SeHfaoes €Ro §

bV o

el HIRY[[Henlkeh oXdld

(C) foxia &R 9RomHeRes 30 901
TSR G0 TR 3

(D) T 9Ro1 9 SeHauds 8RO §
TR SIS ST

27. TETE AU T STHN Yt

aTfor HHA SR Yol §HE 39,
¥

) YT FerTeT Feard XA

7.

(I1) U= g~ Aafashdl THh
3194

A) (1) 77 g (1) 38 A
B) (I) 39A W (1) TA
(C) (I) efur (II) St 3reed
(D) (I) efor (II) <6t &
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28.

29.

In Ranis-Fei Model, the wage rate

in Agriculture sector is equal to :
(A) Surplus Production per Worker

(B) Marginal Productivity of

Labour
(C) Average Productivity of Labour
(D) Net Production per Worker

Kaldor’s Model of growth identifies

the factor causing growth as :
(A) savings

(B) capital accumulation

(C) human capital investment

(D) technical dynamism

28.

29.
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Ranis-Fei ufqammed oidtasddia

o

(A) R FUArTe sifafte

SCHIQ

(B) A= HH Scagehdl

(C) WS TR IcqIgehdl

(D) <X AUAN{E ok 3G

FHAS= gl FaHHAIER sTfigs]

TS VU FEh WIS
(A) st

(B) viead 9=

(C) el Wreaanie aev

(D) difse Tifcent

30. Father of Economics, Adam Smith, 30. ST ST, STew e At Fioren
argued in favour of a policy of : HROT=T G’”"Lq *;l,l%l«'idlc; shell 2
(A) protection (A) FReTm
(B) free-trade (B) & AR
(C) self-sufficiency (C) SAeH{aT
(D) no trade (D) AMNRT=T A9
17 [P.T.O.



31.

32.

33.

In the Lewis Model of growth the
process of capital accumulation by

capitalists results in :

(A) higher productivity

(B) reduction of surplus labour
(C) technical progress

(D) shortage of unskilled labour

The endogenous growth theory
states that growth is generated
by :

(A)

endogenous population growth

(B)

endogenous technical progress

(C) endogenous human capital

formation

(D) endogenous productivity growth

In Kaldor’s growth model, the
warranted growth and actual
growth becomes equal to each other
through :

(A)

change in capital-output ratio

(B) change in population growth

rate

©)

change in savings ratio

(D) change in profit share in

income distribution

31.

32.

33.
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AR EEA dE=al Sl ded
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3T Ui TR ey
EHY|
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34.

35.

In Joan Robinson’s Model of

economic growth capital

accumulation depends on :

(A) wage-productivity

(B) agricultural productivity

(C) profit-wage relation and labour
productivity

(D) profit ratio

In Myrdal’s Model of economic

development two effects are

mentioned :

(A) backwash effects and spread

effects

(B) roundabout effects and direct

effects

(©)

spread effects and interlinkage

effects

(D) backwash effects and direct

effects

MAY - 11316/III—A

34. S19 Ufer=wa gren enfefe sifyuesd

35.

GITAIER. Wiead |94

A ST STEA-

(A) AqT-SAEShdl

(B) Fi-3Icargenhd]
(C) THI-ddq Haie 707 &9 Scargehdl

(D) ST O

Teieren o1fYe fammar=n ufaamT gera

A gfomHET SeoE 3R
(A) Yyl RO 9 §ER 9RemH
(B) TWER URUMH & Tg&l qRomH

(C) guR uftomy enfor gregrgs e

qRomy

(D) gcgrerst ufrors enfor gemar

qRome
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36. In the dependency theory the

37.

central thesis is that :

(A) the developed nations depend on

undeveloped nations for

resources

(B) the less developed countries
(LDCs) depend on the developed

countries (DCs)

(C) the market economies depend
on the state managed
economies

(D) the low income countries
depend on middle income

countries

In Marxian Model (p-rate of profit,
s’-rate of surplus value and
g-organic composition of capital),

then which of the following equation

is correct :

(A) p =5(1-q)
B) p=q1 -5
C€) p =5q(1 - q)
D) p = sq(1 - &)

MAY - 11316/III—A

36. STdacifadl fagadid ALged Hohodl

37.

BN

(A) TorehfEd <91 & Stfereniad <eR ScreH

YS! STacied STHard

(B) Tcufaentaa <91 & foerfad <gmer

ST STEA

(C) drefufsaa srefegeeen a1 IS4

(D) 2TCYSATE <31 HEAH gl

QUMER. STaeed ST

S p = THMN T, " = fAReR] o=

T AN ¢ = AISTAT FEIF T T8,

W AR AR JEeTdehl o

TR0 SeT 3T ?

(A) p=5s1-9)
B) p = ql - &)
(C) p=5q1 -q
D) p = s’qg(1 — ')
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38.

39.

Which one of the following criteria
is chosen by the 14th Finance
Commission for inter-se distribution

of proceeds from central taxes ?

(A) Socio-economic backwardness

(B) Fiscal capacity

(C) Forest cover

(D) Fiscal discipline

Which Finance Commission

recommended grant-in-aid to states
to cover the entire post devolution

revenue deficit ?

(A) 13th Finance Commission

(B) 14th Finance Commission

(C) 12th Finance Commission

(D) 11th Finance Commission

38.

39.

MAY - 11316/III—A

1437 TITATAMN Fg FIHTAT

FHRYCAT T YA F1eY US|

= o o o N A
hHIOAT ROl o€ vl 7

(A) wrHTTSTeh—2Tfefer ArTEqon

(B) USThISE &9l

(C) o &

(D) TSehreE o

g, TR HY Hegaral T T

Y HeAMHMR T e Hegel! 12

Y& HIRUIEES! v fag A=

RTPRE deft ?

(A) 13a1 o M

(B) 14a1 fom M

(C) 12a1 fom M

(D) 11a1 fom s
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40.

41.

The grants-in-aid recommended
by the Finance Commission are

distributed to states from :

(A) Consolidated Fund of India
(B) Consolidated Fund of the States
(C) National Small Savings Fund
(D) National Investment Fund

In India, by the year 2013, the
money supply (M;) consisted

approximately of
currency with the public and

of demand deposits with

................

(A) 60%, 40%
(B) 50%, 50%
(C) 40%, 60%

(D) 80%, 20%

40.

41.
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fom emarTt fereRE S

dlel=eh

ST v ffeqa T ey

el ?

(A) W= Tent fed

(B) TSIl UehfAq fAeh
(C) U= Teqeraa fe
(D) U Taaues e

IRA 2013 TE=N UL e Hel

AT BTATdTel U

....................

(A) 60%, 40%

(B) 50%, 50%
(C) 40%, 60%

(D) 80%, 20%
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42.

43.

What can you say about the
following statements :

) RRBs in India were first
established in 1985.

(z1) RRBs are cooperative banks.

Choose the correct alternative :

(A) Both statement (i) and
statement (ii) are correct
(B) Both statement (i) and

statement (ii) are wrong

©)

Statement (i) is correct and
statement (i7) is wrong

(D) Statement (i) is wrong and

statement (i7) is correct

What can you say about the
following statements :

@

All nationalized banks in India
are scheduled banks.

(i1) All scheduled banks in India are
nationalized banks.

Choose the correct answer :

(A) Both ()

statement (iz) are wrong

Both (2)
statement (ii) are correct

statement and

(B) statement and

(C) Statement (i) is wrong and

statement (i7) is correct

(D) Statement () is correct and

statement (i7) is wrong

42.

43.
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el faumered ™ e J5a 2

() YR WRf¥res U S g
1985 U T AT

(i) URT¥Th UTHIU Skl FEhI k]
3Ted.

1 10> N el e

(A) <=l fasm faum () et faem Gi)
e 3R

(B) <=1 faum faum () et fasm (i)
Ik 3ARA

(C) Taum () s’iex sfor faem (i) I
e

(D) faum () I snfor faum (i) sheR
e

Welid faamrered ™ =|uhd J5a 2
(@)

TRATAE §el TSR slehT ST
ST 3T

TRAIA He ST Skt Teeriehd
ST 3T

g IR o

(A) 2ret faum faum ) sufor fasm (i)
IH e

(B) <=1 fasm faum () anfor faem (i)
ELELCI |

(C) Taum (i) ek 3mfvr faem (i) s
3T

(D) faum () seR i faem (i) I
e

(i0)
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44.

45.

46.

In India CRISIL, ICRA and CARE

are :

(A)

credit certifying agencies

(B) credit rating agencies

(C) credit regulating agencies

(D) credit information agencies

EXIM Bank is :

(A) regulatory financial body

(B) private sector commercial bank
(C) specialized financial institution
(D) investment institution

Tariff is ineffective when :

(A) price elasticity of demand is

unknown

(B) price elasticity of demand is

relatively inelastic

(C) price elasticity of demand is

inelastic

(D) price elasticity of demand is

relatively elastic

44.

46.
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WRAad CRISIL, ICRA 3TfoT CARE

(B) @S & SRl Sieh

(C) fagreiigra foxita wen
(D) TdeO[E e

gk hegl UWER[ 3THdl ?

(A) Seg1 AqrToE fohua wafaenar arfed
THd

(B) Siegl AU fohAd SAarteshar |mge
AcTaraeh 3T

(C) Seg1 AFToET fohud wafaerar dret
I

(D) et "qrToT= fohud Safehar 9
g 3T
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47. Which one of the following concepts | 47. @reficiueh! I GhHeqdl SIee HIIW

was propounded by Gerald Meier ? Teeh ?

(A) Single Factoral Terms of Trade (A) TF T ST

(B) Income Terms of Trade

(B) SO SATIRIIC

(C) Net Barter Terms of Trade
(C) o I&] SATIRIM

(D) Gross Barter Terms of Trade
(D) T IK] ATIREIA

48. All international economic
48' ........................ W gﬁ W

transactions of .......cccoevveeeeeenn... nature
are included in the .......ccoevveieeennnnn..

account of balance of payments.

(A) YaTEl, =e]

(A) flow, current

(B) flow, capital (B) VaTRl, wreae

(C) stock, current (C) e, =mey

(D) financial, current (D) foritg, =me]
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49.

50.

Rybczynski Theorem propounds
that :

(A) Proportionate change in factor
endowment leads to equal

proportionate change in output

(B) Proportionate change in exports
leads to more than proportionate

change in inputs

(C) Proportionate change in factor
endowment leads to more than

proportionate change in output

(D) Proportionate change in factor
endowment leads to less than

proportionate change in output

According to the Stolper-Samuelson
Theorem, imposition of tariff has a
favourable impact on that factor

which is :

(A)

used intensively in the import-

competing sector

(B) used intensively in the export

sector

©)

used less intensively in the

export sector

(D) used less intensively in the

import-competing sector

MAY - 11316/III—A

49. Tea==hr=a JHAHER :

50.

(A) =2 HecThddiel FHURIR SEeAHes
IR FHM FHIIRIR Sgel S
EGll

(B) THafdidicl THIURIR Seaies ST
ek THIORIN Sgel SIS 3l
(C) I aeTehddial JHTIRIR IeaTes

IGAT e GHIIRIR sgel sed
It

(D) ¥k HeaTehddiel JHIIRIR Seeles
IAEA HHT JHURI sgel S
Rl

LI -HHUHET JHATIER YY[oh

SR SATehal qHOMH 1 Scared
HTHER Bl S

(A) AT TR ST el aTaLe
Skl

(B) frafd Scureaa digas aTaer STl

fay

AN
aladad diHetl

(C) Trata ST =
STt

AN

SIESEREIENG]

(D) 37T ScAEATd ShHl
Sl
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51.

52.

According to the mercantilists

wealth in the world :

(A) is unlimited

(B) is limited

(C) 1is irrelevant

(D) diminishing

The existing shares of a company

MAY - 11316/III—A

(A) 3T

(B) wifeq

(C) T9&d

(D) =

o o fa

52. HUATEA =Tl WHHTTE TRaET-forsh]
are traded in the : | e T T B
(A) new issues market (A) EH FHYM dNR
(B) secondary market (B) T dNIR
(C) tertiary market (C) i'?ﬁ_q CISIEY
(D) primary market (D) WAHF TR
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53. Match the following and select the | 53 == Sezal d ETeATe] TahdlehTell aTaeEd

correct answer using the codes given

below :
Authors
(7)) T.W. Shultz
(i) J.W. Mellor
(z1z7) M.P. Todaro
(tv) E. Boserup
Title of the Books

(@) The Conditions of Agricultural
Growth

(b) Economic Development in Third

World

(¢) The Economics of Agricultural

Development

(d) Transforming Traditional

Agriculture
Codes :
(A) @)—(d), (i1)—(c), Gii)—(b), (iv)—(a)
(B) @@)—(e), @)~d), Gii)~(a), (iv)—(b)
(C) ()—d), ()—(b), Gii)—(c), (iv)—~(a)
D) @), Gi)(a), (Lii)~(d), (iv)-(c)

g S e

Eh
() =Y IeE
(i) T HaR
(i) T LT
(v) 3. &Y

&R Fittieh

(@) T HERTY 3% sffiheia Wy
(b) THMITHR SEATHE 3 S TcS

(¢c) T SThIAMHE 3w Afusheata
TRATHS

(d) THIHT Ifevma ffiheeR
Hehdieh :

(A) (D), Gi)—(c), (€i)—b), (tv)~a)
(B) @@)—(o), )~(d), (i)~(a), (iv)-(b)
(©) W), @)—(b), )-(c), (iv)~(a)

D) @©)-b), )—(a), i), (v)-(c)
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54. Match the following and select the

54. Siedl S[eedl 9 TTeiiel HehdTehTell aTTE

I W e

TIRgaHe shrdehd
(i) TehIfcHe UTHOT HriHH

correct answer using the codes given

below :
Poverty Alleviation Programme

(z) Integrated Rural Development

Programme

(i) TS UM TSR ST

(11) Swarnajayanti Gram Swarojgar

Yojana (iii) T QISR e s

(ziz) National Social Assistance

(jv) TSR SMEEET IS

Programme
, L
(fv) Employment Assurance
Scheme (@) 1999
Year
(b) 1995
(@) 1999
(c) 1993
(b) 1995
(¢) 1993 (d) 1977
d) 1977 Hehdich :
Codes :

A) O-(d), @)~a), (L)), (v)-(b)
(A) (D)~d), G)—(a), (i)—(c), @)—(b)

B) @)-(o), @)—(d), (ii)—(a), (v)-(b)
(B) @)—(c), ()~(d), i) —(a), (v)-(b)

(©) O)-d), @)—(a), @)—b), Gv)-(c)
(D) @)—(b), G)-(d), @i)~(a), (tv)-(c)

(©) O—d), (i)a), Gii)—~b), (v)-(c)

D) @), ()-(d), (tii)~(a), (v)-(c)
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55.

56.

57.

The share of industrial sector in

employment was ................. in 2011.
(A) 26.2 percent
(B) 24.3 percent
(C) 26.9 percent
(D) 25.2 percent

The concept of disinvestment was

originally introduced by :
(A) Friedman M.

(B) Kaldor N.

(C) Keynes J.M.

(D) Myrdal G.

India accounts for about ................
percentage of the world

manufacturing output.
(A) 2.4 percent
(B) 1.8 percent
(C) 3.0 percent

(D) 2.8 percent

MAY - 11316/III—A

55. 2011 Eelt ISHRIdel Stieuifiteh &=

(A) 26.2 TFH
(B) 24.3 o=
(C) 26.9 TFH

(D) 25.2 TFH

56. ﬁ'{[ﬁaﬂﬁ;ﬁwgm ..................
I gfed el o

(A) FESHT TH.
(B) ®TER T
(C) &9 S.TA.
(D) fhefa .

57. STIA HR@MER a&=al Scq1gATd

WA= d1e 37T
(A) 2.4 T
(B) 1.8 T
(C) 3.0 TFh

(D) 2.8 TFh
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58.

59.

60.

Uniformity of exchange rate is

possible, due to :

(A) Speculation

(B) Hedging

(C) Arbitrage

(D) Intervention of Central Banks
Fiscal deficit is calculated as :

(A) budgetary deficit minus market

borrowings

(B)

budgetary deficit minus other

liabilities of government of

India

(C) budgetary deficit plus market

borrowings and other liabilities

of the government of India

(D)

primary deficit plus market

borrowings

The concept of zero based budget

was propounded by :
(A) R.A. Musgrave
(B) J.M. Keynes

(C) Peter A. Pyhr

(D) A.H. Hansen

59.

60.
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(A) Fgarsit

(B) d=d

(C) HeAR T
(D) HeAad! sehdl TEIET

TSRl e AT 319 shel S :

(A) STRTSTIH T2 TN Gedl ST

EcEEECE

(B) STRTSIUhTT & ST WA FLehT=

T Sl

FAgINUTRIA g2 Afuw wledn
STSTRIGA Bidcel sl ST 9
TR S <A

(®)

(D) wigthe 2 31faeh ged SR

el

fal

TG STETSISRIE! Hehed Tl AT el
AR

(A) 3T HHIE
(B) é,q’q, %y
(C) IR T UR

D) T A T
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61.

62.

Which one of the following is not
the source of State Government’s

Revenue ?

(A) Entertainment tax

(B) Expenditure tax

(C) Agricultural income tax
(D) Land Revenue

What can you say about the

following statements ?

() An import quota always raises
the domestic price of the
imported good.

(z1) Import quotas limit imports

without raising the domestic

price.
Choose the correct alternative :
(A) Both (i) and (ii) are true
(B) (i) is true and (i7) is false
(C) (ii) is true and (7) is false

(D) Both (i) and (ii) are false

61.

62.
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T TeTdeh! hIOT & o TR
e B TE 2

(A) HTHITH HT

(B) Tieial o

(C) Il Scq=Treiiel =T

(D) 9 wHeHd

et faumeed ™ woa J5d ?

(i) ST hISAHeS TeHd ST T
(i) AW Hicages Iehaa fohad
STedl SANe. FAfGT Sde Si.

Irg W o

(A) (i) i (i) SR 3T
(B) (i) SR (0 (7)) Ik 3R
(C) (i) aeX Wl (i) I T

(D) () omfor (i) g% e
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63. The formation of a cooperative 63. TEETH Trem TONfyd v o
institution has been made a
WW ......................... Www
fundamental right, as per ............ .
ST 3TE.
(A) 96th amendment to Indian
Constitution (A) 96—0ﬁ' aq-rg-ﬁ'q };E:nw
(B) 99th amendment to Indian
(B) 991 9RdA SAGEKI
Constitution
o AR SeAgER
(C) 97th amendment to Indian ©) 97
Constitution
(D) 90+ U EHEAGEI
(D) 90th amendment to Indian
64. Rarem dieem fod SmENTE Teme
Constitution
0 B ?
64. Who was the Chairman of 14th
Finance Commission of India ? (A) fosa Hah
(A) Vijay Kelkar
(B) orfufsa 4=
(B) Abhijeet Sen
(C) THH ST
(C) Raghuram Rajan
(D) Y.V. Reddy D) A= TS
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65.

66.

When two or more countries come
together, remove mutual tariff and
quota restrictions and obtain
common tariff policy for the rest
of the world, such integration is

called as ?

(A) Preferential Trading Club
(B) Free Trade Area

(C) Customs Union

(D) Common Market

Which system of exchange rate
determination is followed in India

since 1992 ?
(A) Currency Basket Mechanism
(B) Fixed Exchange Rate

(C) Pure Float System of Exchange

Rate

(D) Managed Float System of

Exchange Rate

65.

66.
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Jog1 S fowar sfaes 29 T AsA

REae g[Sl whiel ey

ARG HIATd ATTOT I SRl

IS Y¥Ieeh HR01 TEehRard deal ST
me .......................... 3:[@
TEUATA.

(A) W& SRS
(B) HoK SATIRES

(C) Sd T

(D) 9 ISR

o o (aV

HIATd 1992 9y TaHHT <X BINERIE]L

IV Tgell SOl S ?
(A) I et T

(B) feer fafm= g vt
(C) fafmee=n 3r§ T g5t

(D) fafmeeT=l =gawafoa T Tst
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67.

68.

In confidence interval estimation,
o = 5%, this means that this
interval includes the true [ with

probability of :
(A) 5%
(B) 50%
(C) 95%
(D) 45%

In standard bivariate regression,
the coefficient of determination

is given by :

(A) Residual sum of squares divided

by total sum of squares

(B) Total sum of squares divided by

residual sum of squares

(C) One minus residual sum of
squares divided by total sum of

squares

(D) One plus residual sum of
squares divided by total sum of

squares

67.

68.

MAY - 11316/III—A

forvaTedd TEAR J9 A4S o = 5% AT
e @ B w1 A TS HY A
I Hodr= GHET BUgr= Hereadl gl
TAeh! TEd

(A) 5%
(B) 50%
(C) 95%

(D) 45%

I fgoa gt e TR
B SAE

(a)

(A) 3 ST SIS AIfTel e

THU S

01 il 9

(B) e THI d

fal

e o

o

ISl

fa

(C) Teh I IS A SRS HIRTe

o

el WU SIS

(D) T Ak A ieeare sist ifiret

[a)

[

Tf od’ﬁ THU] 9
FHesr=l TR o
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69.

70.

If multicollinearity is perfect in a
regression model then the regression
coefficients of the explanatory

variables are :

(A) Determinate

(B) Indeterminate

(C) Infinite values

(D) Small negative value

In classical linear regression model,

% and u; are :

(A) Positively correlated

(B) Negatively correlated

(C) Highly correlated

(D) Not correlated

69.

70.
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ST gdtgrET gfanmeE wfigef

o NS e IaSaY

feeasmifaeifidl) @

SgHgLstaal (|

T TUSSIHIVITCAE i« He UTH

(Coefficient of explanatory variable)

T 3 A
(A) Tfe=a
(B) etfafy=m

(C) 3Td Ted 3TN

(D) TRE 30 oI ITHUR

A 3 YA xS w;

R2 1S I

(A) &9 HEEIY 3T

(B) RUT TgHeY ST

(C) GUd S Hgdad 3Tl

(D) TRHeY THd!
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71.

If input-output coefficient matrix
is called A, then technology matrix

is :

71.

MAY - 11316/III—A

ST SHARTT-USTT H&[UTh aRuiter E9 A

q el 3, W TIIE GROM & ST

A I-A
A I-A
(B) A1
(B) A1
1 © ad-at
C) ad - A7
(D) AZ D) A*

72. In a multiple regression model given | 792, Y, = By + Boxg; + PBgxg; + u; A
by Y; = By + Baxg; + Para; + u;, the SEYATEA FiqwmTa  STf¥Teh Jeravree
partial regression coefficients are

HEUh ¥ ST
given by :

(A) T By o By
(A) Both B4 and B,

(B) TI=I By 0l
(B) Both By and Bs P2 Ps
(C) Both By and Bg (C) =T By ST By
(D) Both By and u; (D) T By A0y,
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73.

74.

Coefficient of variation is given

by :

a | i

(A) x 100

- o - 100

o

(B)

(©C) x 100

> a

1
(D) —= x 100

oX

The fitted regression equation is
given by SA(I. =-12+0.5x. What is
the value of the residual at the

point x = 50, y = 70 ?
(A) =57

(B) 57

) 0

(D) 33

73.

74.
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forere = E8Tueh B TSl

(A) x 100

a |l

- 100

b
Q

(B)

©) x 100

>l a

1
D) —=

oX x 100

SIS AT TR Y, = — 12 + 0.5x
T AR x = 50, y = 70 =1 o Ffema

W I 3 3T
(A) 57

(B) 57

(€) 0

(D) 33
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75. Match the following and select the

correct answer from the codes given

below :
Writers
(@) G.T. Renner

(b) Tord Palander

(¢) August Losch

(d) Sargent Florence

Books

(z) The Market Area Theory of

Industrial Location

(i1) Geography of Industrial

Locationalization
(z11) Investment, Location and Size

of Plant
(tv) The Economics of Location
Codes :

@ ()

e @

A) & @)
B) @ ©
(C) (i) ()

D) @ ()

() (v)
(v) ()
@ @)
(@) @)

75. SHEAT
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Sedl 9 ‘Al feaed
Hhawmgd 4rd W Eer
[gicE)
(@ w3 ™
(b) AL TelvsT

(c) SMTEd &R=
(d) HSUE TR
)
(i) < Arhe TR Y8 ATh Ssfead
GIEIE]

(i) TSsture e sefeaa aehsM-
NIRENE

(iii) TTREHS, A 370 HES 3MH

~

WU
Gv) & SepiITHRY 31 iy
Hehdich :

(@ (&)

() )

A @ @
B) @) @
(C) Gu) (v)

D) @ ()

i) ()
(v) (i)
@ (@)
() (@)
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ROUGH WORK

40



